Road Transport Department of Malaysia (JPJ)
Automotive Engineering Division,

Level 4, No.26,

Tun Hussein Road, Precinct 4,

Federal Government Administrative Office,
62100 Putrajaya, Malaysia.

Office : +603 - 8892 8107

Fax

: +603 - 8881 1085

Email : ka.hq@jpj.gov.my

Web

: WWW.jpj.gov.my

THE MALAYSIAN TYPE APPROVAL AUTHORITY

52

COMMUNICATION CONCERNING

APPROVAL GRANTED
—APPROVALEXTENDED
—APPROVALREFUSED

—APPROVALEWITHDRAWN
—PRODUCHONDERNTELY-DISCONHNUED

OF A SEAT TYPE OR TYPES WITH REGARD TO ITS (THEIR)
STRENGTH PURSUANT TO REGULATION NUMBER 80

Approval number: E52*80R03/03*0013*00

1.

2.

5.1.

Trade name or mark of the seat
Seat type

Manufacturer's name and
address

If applicable, name and address
of the manufacturer’s
representative

Additional information
Brief description of the seat

type, its attachment fittings and
its adjustment, displacement

"and locking systems including

the minimum distance between
fitting points

Road Transport Department of Malaysia

Page 1 of 3

: DAMRONGSILP

. ELITA 550 DOUBLE

: Damrongsilp Supplies Co., Ltd.
95 Moo.1 Malaiman Road, T.Thungcok,
A.Songpheenong Suphanburi 72110,
Thailand

: Not applicable

. Drawing 1




Approval number: E52*80R03/03*0013*00

5.2.

5.3.

5.4.

5.5.

5.6.

5.6.1.

5.6.2.

5.6.3.

5.6.4.

5.7.

5.8.

5.9.

Position and arrangement of
seats

Seats, if any, which incorporate
a safety belt anchorage

Energy absorption test of the
rear part of the seat-back

Drawings showing the area of
the rear part of the seat-back
verified for energy dissipation
Seat approved in accordance
with paragraph 5.1. of this
Regulation (dynamic test)

Test 1 according to Appendix 1
Test 2 according to Appendix 1
Description of the safety-belts
and anchorages used for the
purpose of Test 2

Type of auxiliary seat used for
test 2 (if different from the type
of seat approved)

Seat approved in accordance
with paragraph 5.1. of this
Regulation (static test)

Test according to Appendix 5
Test according to Appendix 6
Seat submitted for approval on

Type of device

Technical Service, responsible
for the approval test

Road Transport Department of Malaysia

Page 2 of 3

: Double Seat facing forward

: Double Seat

: Yes/Ne

. Drawing 1d

: ¥es/ No

: ¥es/ No
- ¥es / No

: Not applicable

: Not applicable

:Yes/ Ne

: Yes / Ne

: ¥es / No

- 23" November 2019
. Not applicable

- TUV Rheinland Malaysia Sdn. Bhd.

No. 27, Jalan Para U8/103,

Metropolitan Business Park,
Seksyen U8, Bukit Jelutong,
40150 Shah Alam, Selangor,
Malaysia.

our ref : JPJ.BK. @0-3/3/28 JLD. 3 (4) ‘\b
) ~(\5\



Approval number: E52*80R03/03*0013*00

9. Date of report issued by that : 14" June 2020
Service

10. Number of report issued by that : 93-R80-01915-ELITA550DBL/20

Service
11. Approval . granted/extended/refused/withdrawn
12. Position of approval mark on : On the seat fabric, beside the head rest
seat area
13. Place . Putrajaya, Malaysia.
14. Date - 17" July 2020

15. Signature

n Mohamad

Automotive Eng‘neering Division

16. The following documents, . Not applicable
bearing the approval number

shown above, are available on

request

Road Transport Department of Malaysia our ref : JP1.BKA! %&/3/28 JLD. 3 (4) 5{\&

Page 3 of 3 p‘\)@

A
&
Abproval



TUV Rheinland Malaysia Sdn. Bhd.
JPJ Designation Code: 52/D

Test Report No.: 93-R80-01915-ELITA550DBL/20 ®
TUVRheinland

Type : ELITA 550 DOUBLE
Manufacturer : Damrongsilp Supplies Co.,Ltd.

TEST REPORT

according to UNECE-Regulation

Uniform provisions concerning the approval of seats
of large passenger vehicles and of these vehicles
with regard to the strength of the seats
and their anchorages

UNECE R80

including all amendments until

series of amendments: 03
Supplement 03

Previously granted

UNECE - certificate : —

Structure of report General information

Tested vehicle(s) / object(s)
Test record

List of Appendices

Statement of conformity

PoON=2O

partially with the written permission of the Technical Service only.

TUV Rheinland Malaysia Sdn. Bhd. No. 27, Jalan Para U8/103, Tel:  +60 3 7455 3000 Page 1
Metropolitan Business Park, Fax: +60 3 7859 8020
Seksyen U8, Bukit Jelutong,
40150 Shah Alam, Selangor.



TOV Rheinland Malaysia Sdn. Bhd.
JPJ Designation Code: 52/D

Test Report No.: 93-R80-01915-ELITA550DBL/20

. ®
TUVRheinland
Type : ELITA 550 DOUBLE
Manufacturer Damrongsilp Supplies Co.,Ltd.

0. General information

0.1. Make (trade name of the manufacturer)

0.2. Seat Type (Variant)

0.3. Seat for vehicle category

0.4. Name and address of the manufacturer

0.5. No. of the information folder
date of issue
date of last amendment

1. Tested vehicle(s) / object(s)

1.1 Description
Mehiele / object
Commercial description
Type(s) / variant(s) / versien{s)
Identification number
Condition of vehiele(s) / Object(s)

1.2. Worst case

1.3. Remarks

DAMRONGSILP
ELITA 550 DOUBLE (RH, LH)
M3

Damrongsilp Supplies Co., Ltd.

. 95 Moo.1 Malaiman Road, T.Thungcok,

A.Songpheenong Suphanburi 72110, Thailand

UNECE R80-ELITA 550 DOUBLE
October 23, 2019

Large Passenger Seat
DAMRONGSILP
ELITA 550 DOUBLE (RH)

PAS0188

new, used;-pretested

. The determination of worst case scenario was done

according to QMA 1.301.005, section 6.2.2.2.

: Variant RH is symmetrical with LH

Test for variant RH covers for LH

TUV Rheinland Malaysia Sdn. Bhd.

No. 27, Jalan Para U8/103, Tel: +60 3 7455 3000

Metropolitan Business Park, Fax: +60 3 7859 8020
Seksyen U8, Bukit Jelutong,
40150 Shah Alam, Selangor.

Page 2



TOV Rheinland Malaysia Sdn. Bhd.
JPJ Designation Code: 52/D

Test Report No.: 93-R80-01915-ELITA550DBL/20

.. ®
TUVRheinland

Type : ELITA 550 DOUBLE

Manufacturer

Damrongsilp Supplies Co.,Ltd.

2. Test record

2.1. Equipment for measuring and
testing

2.1.1. Specifications for the test site

2.1.2  Subcontracting

2.2. Test results

221 Testresults refering to measurements

2.2.2 Attributive tests

2.2.3 Alternative test provisions
Remarks concerning extension

2.2.4. General requirements for all seats

2.2.5. Adjustment and displacement devices

2.2.6. Retention of the user by the seat in front

2.2.7. Risk of injury

2.2.8. Resistance of the seat and the seat
fixations

2.2.9. Constitution of the backrest and the
accessories

The test facilities / measurement equipment used
were in compliance with the test requirements

Damrongsilp Supplies Co. Ltd Laboratory

Not applicable

See Appendix 1

Test was done according to UN ECE Regulation
No. 80.03, Clause 5.1 Appendix 5 and 6 (static
test).

The strength tests were only performed for vehicle
category M3.

Not applicable
Not applicable

The seat type is in compliance with the
requirements of the regulation.

The seat type is in compliance with the
requirements of the regulation.

Not applicable

The seat type is in compliance with the
requirements of the regulation.
See Appendix 1.

The seat type is in compliance with the
requirements of the regulation.

No parts of seat, seat fixation or, accessories

a) dissolved completely

b) formed sharp edges or fractures
cause personal injury

c) abandon their locked pgéition.

The seat type meets the re
the prevention of injury.

uirements regarding

)
No sharp edges occurred dig or after the )
testing. % \)\\\0
Joproval

TUOV Rheinland Malaysia Sdn. Bhd.

No. 27, Jalan Para U8/103, Tel:

+60 3 7455 3000

Metropolitan Business Park, Fax: +60 3 7859 8020
Seksyen U8, Bukit Jelutong,
40150 Shah Alam, Selangor.

Page 3



TOV Rheinland Malaysia Sdn. Bhd.
JPJ Designation Code: 52/D

Test Report No.: 93-R80-01915-ELITA550DBL/20 o
TUVRheinland

Type :  ELITA 550 DOUBLE
Manufacturer : Damrongsilp Supplies Co.,Ltd.
2.3. Additional information . The results of the test refer exclusively to the

object(s) mentioned under point 1. of this report.

Test site : Damrongsilp Supplies Co. Ltd Laboratory
Test date : November 23, 2019
2.4, Remarks : Not applicable

3. List of Appendices

Appendix 0 . List of modifications

Appendix 1 : Test record static testing

4, Statement of conformity

The information folder mentioned under point 0.5 and the type described therein complies with the
requirements in the above-mentioned on page 1.

With regard to the required level of performance to be achieved, the tested samples were
representative for the type to be approved.

The tests were carried out in accordance with the relevant requirements of EN ISO/IEC 17025:2005
or EN ISO/IEC 17020:2012.

Shah Alam, June 14, 2020
ML

. o,

Manfred Lottig

TOV Rheinland Malaysia Sdn. Bhd. No. 27, Jalan Para U8/103, Tel:  +60 3 7455 3000 Page 4
Metropolitan Business Park, Fax: +60 3 7859 8020
Seksyen U8, Bukit Jelutong,
40150 Shah Alam, Selangor.



TUV Rheinland Malaysia Sdn. Bhd.
JPJ Designation Code: 52/D

Test Report No.: 93-R80-01915-ELITA550DBL/20

. ®
TUVRheinland
Type : ELITA 550 DOUBLE
Manufacturer : Damrongsilp Supplies Co.,Ltd.
List of modifications Appendix 0

Correction of s e

Modification of (p—

Addition of te -

Deletion of te -

TUV Rheinland Malaysia Sdn. Bhd. No. 27, Jalan Para U8/103, Tel:  +60 3 7455 3000 Page 5

Metropolitan Business Park, Fax: +60 3 7859 8020
Seksyen U8, Bukit Jelutong,
40150 Shah Alam, Selangor.



TOV Rheinland Malaysia Sdn. Bhd.
JPJ Designation Code: 52/D

Test Report No.: 93-R80-01915-ELITA550DBL/20 ®
TUVRheinland
Type ELITA 550 DOUBLE
Manufacturer Damrongsilp Supplies Co.,Ltd.
Appendix 1

Test record static seat tests

Seat type series

) Height of test rig [mm)] Forward movement [mm]
Test no Test object/ CR CL Remarks
' Seat type H1 H2
s1 s2 s1 s2
1 ELITA 550 750 500 285 86 - - OK
DOUBLE 750 500 - - 103 58 OK

Remark: CR = corridorside right
CL = corridorside left

Displacement requirements:

TUV Rheinland Malaysia Sdn. Bhd.
Fax: +60 3 7859 8020

Metropolitan Business Park,
Seksyen U8, Bukit Jelutong,
40150 Shah Alam, Selangor.

Location Min (mm) Max (mm)
s1 100 400
s2 50 -
No. 27, Jalan Para U8/103, Tel:  +60 3 7455 3000 Page 6



UNECE R80-ELITA 550 DOUBLE

APPLICATION FOR APPROVAL

TYPE: ELITA 550 DOUBLE

SEATS (LARGE PASSENGER VEHICLE)

APPLICABLE REGULATION: UNECE R80.03

APPLICATION HISTORY

Document Ref. No Issue Date Explanation Approval No. Approval Date
of update

UNECE R80-ELITA 23/10/2019 Original
550 DOUBLE




GENERAL

1.0 Trade name or mark of the seat

2.0 Seat Type

2.1 Seat Variant

2.2 Loaction of Seat marking

4.0 Manufacturer’s name and address

5.0 If applicable, name and address of the
manufacturer’s representative

6.0 Additional Information

6.1 Brief description of the seat type, its
attachment fittings and its adjustment,
displacement and locking systems including
the minimum distance between fitting points

6.2 Position and arrangement of seats

6.3 Seats, if any, which incorporate a safety belt
anchorage

6.4 Energy absorption test of the rear part of
the seat-back

6.5 Drawing showing the area of the rear part of
the seat-back verified for energy dissipation

6.6 Seat approved in accordance with paragraph
5.1. of this Regulation (dynamic test)

6.6.1  Test 1 according to Appendix 1

6.6.2  Test 2 according to Appendix 1

6.6.3  Description of the safety-belts and achorages
used for the purpose of test 2

6.6.4  Type of auxiliary seat used for test 2 (if
different from the type of seat approved)

6.7 Seat approved in accordance with
paragraph 5.1. of this Regulation
(static test)

6.8 Test according to Appendix 5

6.9 Test according to Appendix 6

7.0 Seat submitted for approval on

8.0 Type of device

UNECE R80-ELITA 550 DOUBLE

DAMRONGSILP
ELITA 550 DOUBLE

Variant Model code

ELITA 550

DOUBLE RH PASD188

ELITA 550

DOUBLE LH FASO189

Drawing no.2

Damrongsilp Supplies Co., Ltd.

95 Moo.1 Malaiman Road, T.Thungcok,
A.Songpheenong Suphanburi 72110, Thailand

Not applicable

Drawing 1

Double Seat facing forward

Double Seat

Yes

Drawing 1d

No

No
No

Not applicable

Not applicable

Yes

Yes

No

77

Static pulling device




UNECE R80-ELITA 550 DOUBLE

Drawing 1 — Seat Drawing(s)

DATUM SIDE MOUNTING ﬁ aav
] ]
Z2=0 — ﬁu
m NUT WASHER M8
T e Tt e,
lo_(s0) _| | (s10) | L
(1222) WASHER IO BOLT MIOX1.5X40
o WOOD T18
M— X K & = L STEEL 10X10x .
(1076) }
1172 48 ﬁﬂbnv ANSW THREAD M10 i
(s70) . (570) . ot
K// H-POINT
«m /r t
\ & > quc:
=0 .
: N 4|
— s Ya0
- m 2 / -
i § N /JJ/// [
2 DETAIL A 1
o SCAE1:
m* v . .
e . NN ASSEMBLY|  amsmoam |
NOTE | Pacs
- @ H-POINT == e
-THE SEAT SHOW RH SIDE THE LH SIDE IS SYMETRICAL /|| |t
- — won | e | sive Livat] oim | soon] vt Bime == ="

YAECE DWGIELITA DBLVELITA TUVEWASSY ELITA DBL SEAT ECEY | ¥ T i J ! ! ! ! !
RS DY E BATE:RNRN

Page | 2



UNECE R80-ELITA 550 DOUBLE

DWG. 1a - Seat adjustment System (if applicable)

i 1 H 1 i3 1 3 1 L3

' FOLLOW RH

3

V\‘
“
) 1 ] | \W
ITEM PART NO_ THICKNESS °
1 DIE PART Rr a
2 RECLINER BASE PART RH V25 Q)
3 RECLINER BASE PART LH SPHC 1225 | aA.
4 DIE PART LH SPHC Te3 &
5 LATHE PART OD28 NPHC =0 |\o)
C
) DIE PART LH

i (1) DIE PARY RE et
e o
L ,
- _% ,_‘. 3 “ /
* i ' \
i [ P (2) RECLINER BASE PART RH
[} $|\|\$ il
r\.\..&v\»ﬂv “V/ _W\
i } i SECTION AA
m O Is) SCALE1:3
| e o 1
i lwtlr 211
. ..mw W.W.r .TJ.PIL | &
\ ! H
1 — SECTION B8 __ ;.RL
i i = SCALE1:3 I’F‘L_
%, ‘..I,thrza TH LATHE PART OD25
1
uMMMF.mJOun & %ﬁ@m M j ASSEMBLY " DRS19 RECLINER RH
~ DRS19 RECLINER LM
SECTION DD | . [y -
L ! = i
1
| NOLE AT ALY
-THE RECLINER SHOW FOR RH SEAT AND LH SEAT IS SYMETRICAL g : I

¥3ECE DWGIELITA DBLELITA TUVEWSSY ELITA DBL SEAT ECEASST: T ) ! ¢

T
R RSV BTSN



UNECE R80-ELITA 550 DOUBLE

DWG. 1b — Seat padding

PU FOAM

ASSEMBLY Cuivion Fum e « Woad
™ e -
1 Fo0149
=l o

FaARE

T
©2mes
-

o |omvn] wns | e | men

VATEAMNEW ANANELITA THVECusteun Fodm Bt

I il
i

TEF4S ARV DuTEALIA0E

Page | 4



UNECE R80-ELITA 550 DOUBLE

DWG. 1c — Seat frame

] 1 : 1 s 1 H 1 ] 1 1 1 H
PART KO. DESCRIPTION

ITEM NC.
(1085) 1 |PB0022 | Lathe Part #1-3Lathe Part #13
2 |PBS0001 Lathe Part #UNF 7/16
195 o 176 &1 3 |P97s | Squars ppe 25425 430mm | 1 =
135 o 195w 110 1 3 |Pw083 | SQUARE PE 25.4xiz7xi2 |t \| SSA®0 =
5 |PM525 | SQUARE PIPE 254X12.7X15mm| 1 I\SS400 | T=15
7 6 [Pusas Squars Pipe 1x19x1.5 z | 8400 T=15 /@ﬁ
7 |Pszra Squace pipe 32x32:2.0mm 1 T=2 Z/@
] e 8 |Psars Squars pips 32x32x2.0mm 1 | sse00 = L
% 1] PS4 1 Bending Part T1.5 a SPHC T=1.5
s M_m 0 |Ple753 Square pipe 1x1x2.0x250 2 | 55400 T=2
i " 11 |P875¢ Squars pipe 1x1x2.0x66 LH 2 | ss400 T2
. o 12 |P7053 Stesl Sheet 3.0 mm 1 | sPHC T=3 .
L4 L ol |® 13 |P7aot Square pipe 1x1x2.0x88 RH 2 | s5400 T=2
P o7 I 14 |Pis0108 Squaes pipe 32x32x2.0 ren 5 | SS400 Ta2
15 |PPoort Laser Part T4 2 | serc Tt
7 18 |PPo32? Bending Part T4 1 | sPhC Te4
- 100 Q) 17 |PPoazs Banding Part T4 T | SPHC T |
2 100 o 18 [PPOAIS Laser Part T6 2 | sPrc )
19 |PPi062 Banding Part T4 T | sPrC T=4
452 452 .. 20 |PP1063 Bendeg Part T4 T | SPHC To4
21 |PPazaa BENDING PART T4 2 | sPHC T=4
22 |PPS01ss BENDING PART T5 1| sPaC T=5__ |5
— 23 |pPsois BENDING PART T5 1| sPrc 15
>4} [/os]a; /Tos[e Ligy 24 |Swoos1 Nut M10X1.5 (Black) 2 | sse0|  T=10
2204 25 |swotas Nt M#11(7-16 UNF} 2 | sS40 T=10
o {10 452 &1 452 4 ch L UL YiRe a0s ‘M % ae N
N | ,
% 3 440 \
ol f
—n m_mu 1 ~ ng o o = | » o o of
i ™ 3 =
4 (151) || (420) ._?

T T T )
=] ]
n o ‘ﬂ 4\- -
28 | 282
: dk | :
i < |[@ ° | p ®) - __>MMN2_W_..§«!I>!§-I:5;»: |
ST Co W 01 @ o [ el el
— o . v - T PAS1-0340
189 & k (110) B I S = € % — 2 N i)
_ 135 . B Y B ,
| /| | e
{200) e T — 50 14 @
——— e | wn | wn o] s | | o o e I el

v.:Ck DWGIELITA DBUELITR TUVEIASSY CUSHION BASE FRAME ECE! L L 3 T 3 ! ) L T



UNECE R80-ELITA 550 DOUBLE

1
NO.|PART NUMBER]

DESCRIPTION | Q

bl 1
ITEM TY.
1 |Pi4ss STEEL SHEETT3 | 1
2 |Pie4sg STEEL GHEETT5 | 1
o o0 3 |Pieass STEEL SHEET T1.5 | 1
*_.! {180] - :
T
| |
e -
/ | E——————
g 2
o
| :
(280)
(320)
B K 4.., /
/
® oA YO
A o %, T TR
R B v . B % et J H >mmm3mr<_ Asay Log THLR)
T T =
‘ ) LTy
2 | PA1-8370
——eTF TP e |
FTS ] | e
i
- - i | e | ..ll&nt!rak_.l.._. _-ﬁ.tﬁ!c:

v.EcE DWGELTA DBLELITA TUVEWSSY LEG ECr:

L T 0 DATTALTASE



a0 LS}!{NM Am‘!/\,?l YLTFNYNY ATV

R WAN B

DWG. 1d - Seat back

UNECE R80-ELITA 550 DOUBLE

§°33VOS

VA NOILDIS

o

‘\\\‘.“l‘-

NN

’/

—"

QAVE i

"é;?@.'gb}, NN

;‘.‘“gg Y

4

(81)

HvOd Nd

[055]

(8v]

|

INVY4 13348

-

® P P
11 |
|
? |
1 ]
!
" ) A
{ *-v's\.« ; g;ia
-} i r‘ﬂﬁ
I~ el
IERCRLAE
!_ 1o L4
K i L
{rAEIR
E g
‘—A
va--\ -
ot A
AL | B
T 5] 3
i eS‘\ 2
-4 ]i

((W/BNET 9y ALISNIQ)




UNECE R80-ELITA 550 DOUBLE

1 1 1 1 1 1 3 1 3 1 : 1 1 i
[TEM NO [PART NUMBER] DESCRIPTION QTY. | Mutarial | THICHKIESS

1 |pBosre LATHE PART 0025 4 | sswo| @24
2 [pisee0 SOUARE PiP125X12.7X12 | 1 | 65400 | Ta12

3 |pissrs BEDING PART T3 1| 53400 a3

4 |perar PIPEODZSBACKREST | 1 | ssso| @15

s |pwra STEEL ANGLE T4 1| ss400 Ta4

6 |Pi6740 LASER PART T4 4| sseo Ta4
(535 7 |Pwox STEEL SHEETS0XS0X1.5 | 4 | 55400 | 1218
. 8 |pimiss saunArynu 100%100x1 2 | sse0| vers

| — 9 [pwais SQUARE PWE 25X25X2_| 1 | sse00 |  Tu2
/ I I [ 10 [Piears LASER PART T1.5 1 [ssawo| Teis

7 = . \X i3 11 |pwsse SOUARE PIPE 26X25X2 | 2 | SS400 T=2

= I — — T i 12__|PP2904 BENDING PART-T4 1| seHC Tad

[ - -. 1 1 [SW0100 NUT M1 216UNF 1 $S400 119

= i Ij t. 1 |wm5 WIRE OD4 2 | ssan 4

g | | 15 [wio2z6 WIRE 004 2 | swm [

J | i
' L
L
E
!

11 |

255,
195 o
L
v
-+
{
L]
\
T
BS 03

448 o
g
A ASSEMBLY]|  Assverchnest rmasie 1
N L
:- SRS ] S o = i PA1-10778
Y I S % N
| - - 0
N /1] | o
r — I I N
V&0t OWGELITA DBLELITA SUvEWaSY BACRREST RCES T 4 T ¥ T v T T T T T
bl [OTeSre—
1 4 1 1 i 1 H A L] 1 1 1 bl 1 i
Jrem o Jear NuMeER] DESCRIPTION [ ary. [ Matersi [ Pecrness
1 |posrs LATHE PART 0028 4 | sswo| @4
2 PISBB0 SQUARE PPt 25X12.7X4.2 1 $8400 T=1.2
3 |pwsers BEDING PART T3 1 |ssa0| a3
< |pwrar PIPE OD25-BACKREST | 1 | Ssa00 | @28
[ ) STEEL ANGLE T4 1 | 85400 |  Tma
6 |pieran LASER PART T4 4 [ssa0 | Tad
{s35) 7 |pirass STEEL SHEETSOXS0X1S | 4 | 8S400| Tets
o [pimiss [wnBrvwou 100x100x1-Smml 7 | 85400 | Vats
e e o |pieae SQUAREPIPE 2828962 | 1 | 68400 T=2
; - 0 LASER PART 118 1 |ssa00| Tes
T 1 SOUAREPIPE 26X25%2_| 2 | ss400|  Ta2
BENDING PART-T4 1 |eemc | Ta |t
(I - X NUT M11 716UNF 1 | ssa00 | 1at0
E WIRE OD4 2 |ssw0| @4
g WIRE OD4 2 [ swum Pa

e — e T
7T |
’.—————-—‘1., = | i
| - . [g
g 3 W i -
g | ]
44 I El
B .
1
L_th_. B
448,

123332222

!
!

viece OboELTa DaceLh Tveassy sacdesTeCcE . T ’ T ‘ T




UNECE R80-ELITA 550 DOUBLE

G. 1e — Seat re-inforcements

L

1
THICKNESS]

NO PART
1 L STEEL 40x40x3 SPHC T4
2 STEEL 0 50x50x3 SPHC =3
3 WASHER M10 SPHC T=2 A s
4 WOOD T15 WOOD T=1%
s BOLY M8x1.25x40 $S400 - e i
6 WASHER M8 SS400 Ts2 i
7 WASHER NUT M8 $S400 T=2 _m
8 BOLT M10x1.5x40 $8400 s 2
9 PLATE STEEL SPHC T=5 __{)
t [ 4
N - -
[ Xl
— - DAL G
1 1§ | N L
.
———
SECTIONAA A & SECTION B8
1
{ \
{ dg
-
|
|
§ DETAIL.E |
OCTAR:F (5) BOLT MBX1.25X40 s e
: Ll
%\ Z 22727 t
(5) BOLT M8X1.25%40
\
\ (8) PLATE STEEL T=$ (280)
i \ [ (®)90LT M10x1.5x40 cETAL D B
(B) WASHER M8 \ SCALE1.S
A f
. X /= WASHER M10
N
- " : i
H | J ud §
- /
L . 4 (LA
A AN ©
7 WOOD T15 o - S
| |
" g (D)L STEEL 40x40x4 - ——|ASSEMBLY| amsooam |
D wasHER auT M8 /[ Mm g ¥ a el N
(DL STEEL 40X40X4 = —— ,
OETALF N 1:20 ISR —
seasn oeTALE THREAD 110 || e eS| e
) SCALE 111 ] _ O A
Y e
! || |
i
- — === ..L.L...%.i.i.ﬂ T m T

¥AECE DWGELITA DECELITA TUVEBass TEST ELITA DELY

A 2TV MTIAINN

Page | 9



DWG. 1g — H-Point

25 110

DETAIL A
SCALE 1:10

UNECE R80-ELITA 550 DOUBLE

H-POINT

250 :10

Page | 10



UNECE R80-ELITA 550 DOUBLE

DWG. 2 - Seatbelt Assemblies

-

Ne—

ORELOEE, 1TOE0 NIRRTt sl

»

/
!

h
\
—— ]

s UL —

SRR REBHEREERLAIRS.
EBARSL I

BEE. BERLAL S LB ONR SRBITEBRTREC
A3, BELSRATN I 5, SAREIRRI01 S o

i 82
EPAN N

DO @O Favurntirusiae. a5

IHULLERL

axe | ae

sam— Rl I

=

proafii 314 Ackumie Sas et v P Lot
oy - o [
T & a5ai PA1-10223 L K
\ |
iy [ atd

| =]
1 2k LR LU TINY

! ] I | [} I | ] [ ! 1 | ' | " | | B

Page | 11



UNECE R80-ELITA 550 DOUBLE

DWG. 2 —- Seat marking and E-mark Sticker location

ngsilp
X% 00

3/03

£
@%
&)

E52 gorg

DETNL A
BCME2:1




